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And when he dies it is a Get; evidently there is Brayroh

OVERVIEW

The X713 cited a mwn regarding the status of a woman, whose husband said to her,
‘here is your v3 if I die from this sickness’, in which case 777> "1 maintains that
until he dies she is an wX nwx.' The X3 infers, but when he dies the vi 1s valid,
indicating that > maintains 77°72 .

- 21953 JIRT 1199 19993 T NID ININT 23 Y N 20902 w9
w9 explained that even though it is a stipulation, nevertheless 792 is

required for this *X1n to be effective, since it is not in his power to carry out this Xin -
- D) 91 XY 19592 DIV INY INY *PHND DPNN ININDY NID “HaD NINN NYWA)

And at the time of the "Xin there is doubt whether the °&in will be fulfilled, and
the >x1n is fulfilled by itself, so if it were not for the concept of 19992, it would
not be a valid w» -

- To1999Y 10y 0npY 1192 BININ INYY 31T N9
And this °Xin of 1 *21n °nn oX is not similar to other a°8in where it is in his
power to fulfill them and he intends to fulfill them.

N190IN comments:
- (3,09 9710p%) WANRY 593 1Y ¥PINT 113 N9992 DYON KIN TWON X TH99 Y X1 91919

But nevertheless here (in the case of 71 "> °n oX) perforce the v) cannot be
effective unless we maintain 79992, since the X722 in ¥IRW S» P79, established

' See previous 7 71"7 'O

% See *991 11"7 *"wA (towards the end).

3 The >X1n is 717 "M nn aR; he has no control whether he will die from this illness or not.

* We are unsure whether he will die 711 *1m or not.

> The one who makes the *Xin (the husband) will not carry out the °Xin; he will not cause his death. The three
conditions mentioned (17X¥n 0°°pnn ,poo ,17°2 1K) all indicate that the husband has no control over the >Xin.

% The *xan is (for instance) here is your 3 if I do not return in thirty days (where he can fulfill or not fulfill the *Xin).
Or if he says here is your v if you give me 100 dollars (where she can either fulfill or not fulfill the >Xin).

" This concludes the citation of >"w (in a somewhat reversed order). According to >"w1 if the *Xin can be fulfilled
(if he intends to fulfill it), then we do not need 17°72 to make the wyn effective. However if the fulfillment of the
°RIn is not dependent on the person, the Twy» will not be effective unless we maintain 717°2.

¥ Even if we would disagree with >"21 generally as to when we need to depend on 77°12 by a *Xin, and when a *Xan is
effective without 7772 (see footnote # 7) and we would maintain instead that 77°72 is necessary only if we are
unaware when the 11p or the mon takes place, or whether it took place, or who/what is affected by the m>n/ip.
Therefore seemingly here, since when the mn/1°1p takes place we are aware of it (it takes place now ovin, when he
is giving her the 03), there is seemingly no need for 7772
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this case -
- 913'\31’)3 ONP HNN NYY VIva OYIya 2INY NYN 991N

Where he said that the va should be 911 ‘from the last moment that I am in this

world’; meaning on the moment before his death
- 19592 7% CHr1) 599121 DN YN VINY NPY DTN

So that moment when the vy took effect, it was not defined or known,
therefore 779992 is required.

mooIn (seemingly) reverses himself:
= 19%92 o9 Hynana 19598 NI 19 9794 99345 DYPNI YN

But nevertheless it is indeed as >''w1 explained that even by a >Rin we require
7772 -

- 19593 1075 29WN NAX AN NN YY TIMA 339904
For in the cases where someone says to a woman, ‘I will be intimate with you
(with the intent of marrying you) provided that father agrees to the marriage’,
the X713 shortly considers this a case of 7992 -

mooIn replies to an anticipated difficulty:
= 9910 01N DMWY 1199 ON T IY NNIIN 11 99D (3,15 97 Py 1229919 D93 P93 9INT RN

And regarding this which »ax asked in P39% 993 P98, ‘according to you (X27)"
if one said, ‘‘this pomegranate (a) should be 190 on this pomegranate (b), if it

will rain today, etc. and (b) should be 770 on (a) if it does not rain today” -
- AR 199932 7Y TOINT INDY 13990 PAnyan 0 X91 ¥ van

? Indeed if the va would be avin o, then according to Mmoo (hypothetical X120) we would not need 772 even
though it is not 1773, etc. (see footnote # 8); however our case was explained to mean, not ovii», but rather *IXW nNX»
a”wa.

' He passed away at 10pm; the b3 was therefore >r1 at 9:59 pm (\nn*» amp nax Ayw). However at 9:59 we did not
know that she is nwa1n (since we do not know yet that he will die at 10pm. Therefore the v3 cannot be 211 (see
footnote # 8) unless we assume 777°72.

"' This means even by a *Xin where we do know when the mbn takes place (see footnote # 8), but it is not 17°2 (see
footnote # 5), there is no NY11 of a *Xin (and 1°Ip) unless we maintain 77°72 w°.

12 This is a case where we know when the mbn is, but it is not 1722 (of the involved parties) and nevertheless it
depends on whether we maintain 77°72 ¥ or 77°72 °X; proving the *"w1 is correct.

B xan (there) explained the reason why "9 does not permit giving Wwy» in the case of 131 1> nP12n (as "1 does), is
that since the 7710 writes (in 7,7 [2*v9 W] 02127) that "1 7137 N°wXA (by An17N) it requires a 0°13°1 WY NWRI (that
at the time of the »"1n nw1977 we can differentiate between the »"17n and the remaining 1711). Therefore even if we
maintain 77°72 v, the »"17n will not take effect (by 121 1% np¥27) because it is not 013°1 W,

' »2x maintains that it cannot be that the *Xin is ineffective (even though that here too at the time of the *Xin it was
0°12°1 7w TR, for we do not know which one is 7170 and which one is 1°217), thus challenging s'%27 explanation.

"> mooin sees a potential difficulty with X question, perhaps we maintain 7772 PX, and we just said that a *Xin
(which is 1772 X as is the case with the rain) is ineffective if we maintain 77°72 X, so what is s""aX question?!
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Is it indeed so that it is not 7219n°; NMdOIN explains that »2X asked this question
only according to the one who maintains'® 77a.

In summation; >"w7 and M50 agree that a *Xin which is not up to the parties to fulfill (17°2 1K),
is not a valid °Xin, unless we maintain 77°72 w°.

MooIn asks:
- 181’N MPN 17]’3‘\’)5‘\)35 NY 29 9N (3,59 91 ow) 12291 594 799347 NN

It is astounding for 21 states in °27w7 %22 p2; ‘our mwn is negated because of
IR’ -

= 191N PN PRY KLY NN 72999
And the X773 there asks, ‘on the contrary let us negate X in favor of our mw»’

(so that °"1 maintains 7712 ¥°) -
=919 NPIYN 1INT N9 DD NHYDT NHINY 229D NPT 1YNYT TNYT XPYD R %YM

And the X713 answered, ‘do not entertain such a thought, for we have learnt
that *''9 does not maintain 779993, for we learnt in a /71w?», one who purchases,

etc.” wine from 2>m> where >"1 prohibits separating the wine based on 77712, proving that he

maintains 777°72 7°R. This concludes the citation of the X773 in 1°217°Y, and NM®OIN asks -
- 19]’:1‘1’9‘1 PHINN PN NPIYAT NINNDI PRI RNOY ININ NNV

But now that we said that the reason why in the mwn of WnXY °» (in the case of
"N21 v 1A0) it 1s a valid v3, because 7T " maintains 77°72 7, so even though
we have X and the case of 21 1 npY%n which indicate that 777°92 1R according to
>"9, but still we should negate both "X and that case of 1 np1%n (which indicate

that according to *"1 there is 717°72 1°X) in the face of (a) the 71w% in 2y9%Y
- (%00 97 80P X23) T 112YINT K 59919 ZONIN 1991 IRNNY 52T 1PN93NN)

' It was apparent to >aX from s'X27 explanation that ¥"2 maintains 7712 2" (see footnote # 13).

"7 The mawn there is discussing the possibility of placing two Pmfin *217°Y one to the east of the city and one to the
west, in case the 0on1 will spend naw either in the east of the west, so on Naw the 217"y °1n will choose which 217"y
is effective and walk in that direction. Both 217"y cannot be effective because they cancel out each other. 7777 " in
the miwn there maintains that if two 2°»51 came, one from the east and one from the west, he can decide on naw
which 217"V to activate. This obviously requires that he maintains 77°72 v.

'8 1% (a XIn) taught that 777 1 does not rule that if two 02 came, he can choose where to go; indicating that
according to & we do not say 117"12 according to *"1. Therefore 27 taught that we negate the 7113wn in favor of 1°X that
" maintains 77°72 PX.

' The mwn cited in footnote # 17, where >" (seemingly) maintains 772 w.

0 The 7awn of @A INRA X7 An and 191 0% 1777, See the beginning of our Mmoo,

*! This is regarding the gleanings (vp9) of the field, which belong to the poor; provided that only two stalks fell to
the ground, but not three. However the poor do not discriminate, and so in order that what they take extra should not
be considered 213 the owner is 7P in the morning anything which they gather illegally, so they are not stealing it.
However for this to be effective we must utilize 777°72 (for when he makes it P57 he does not know yet what (or if)
he is being 7°pon), proving the 77°72 7% R ",
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And (b) the mw» in »aRWw % P75 which is cited here and (c) in face of the

RNM2 in 720 P70 -
=I1210P5°W N1 U3 72N JYa 1IN NINY NN 229 MNP

Where >''1 rules that in the morning the owner says anything which they will

gather should be 9pa7, etc. -
- Zaqrna 07905 9299 199 SN 230 Y93

Where in all these three cases %' maintains 79992 ©w°.

N1B0IN answers:
— DYINR NYTA A9N 122 PInyTa NN 13 PYNN 297 1Y Y

And one can say that 29 differentiates between a case of 7712 where it is
dependent on his mind (he will make the choice) and between a case where he

depends on the mind of others (he is not making the choice) -
= 119592 1Y NN DN DIINN NYTA NN 1N NI NINT NINNY

And that case mentioned here (of *n» ax o1an Tv°a 1"°77) and of 73y9» (regarding

vP?), where he is 218 np72 7910, and there "7 maintains ;77912 v -
= 0NN VI 151 N9 N 1YY MmKY NYTa NHIN YaN

However if he is "3y ny72 790 he does not agree to 7793. And this is the
explanation there (in P217°y noon); 27 is saying -
- P8y ny1a 19N 959N N9993 NNINY 5295 1YY SPIRT 2INDT 1PNNINNY NI
The mwn which stated that ''% maintains 79°92 @ even in a case where he is
YaxY nYTa 79N, that 71wn is negated -
- %nmvnT Nonm PN snpn
In the face of X and the case of 1 npY»n —

mdoIN responds to an anticipated difficulty:
- 9919 19993 PRT TINDDY XY NIW SN PRT NINANR 0997 N

22 There are two sources in which *"3 maintain 7712 7R (X and 7 27) and three sources where he maintains w°
77°72 (the 73wn in 1217V, the case v 1777 and the case of vp%). We should follow the three rather than the two.

2 These are the cases of the 0o (where he will make the choice in which direction to travel) and 1> np177 (where he
chooses which wine will be 1211 and which will be »"1n). See ‘Thinking it over’.

** This is referring where he made two 12710 °217°Y and both 2251 came (one to each side), where > ruled that he
can make the choice; this is a case of ¥y ny73 7710; he is deciding where to go. See footnote # 17.

 px taught by 1217 that *"3) maintains he cannot make the choice (since he is 13y ny72 721n). See footnote # 18.

% This is also a case of MYy NYTA 7910 and 7712 is ineffective. We now have two rulings (of 1% and n27) which
maintain 771°12 X by M¥Y n¥72 790 and only one ruling (the 71wn in 1217%) that 7772 w° by ¥y ny7a 7910, The
other two cases of v 1777 and vPY are cases of DR NYT2 770, where 27 agrees that 77712 v°, according to *".

7 »x maintained (according to °"7) in the case where he made two 1m0 *217°Y (one to the east and the other to the
west), that if only one 0317 came, it is a proper 217°¥ and he can go to that 0317; however if both 2151 came we do not
allow him to make the choice to which 0311 he should go. The X n3x asked that in both these cases we need to apply
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And this which the X713 asked on that ruling of R, ‘what is the difference that

if both o121 came to this side and that side where we say 79°92 N, etc.”® and in
the case where only one 0211 came, where we say 7712 W -

mooIN responds: the XN —
- 99V MNN DYINN NYTI NHINT LY NPT NN 12 PHNNT NPT 799399 XY

Is not asking this question on 29, for according to 27 who differentiates
between 23¥ ny72 790 (Where we say 77°72 1°X) and 290K ny7a 7910 (where we
say 17772 v°), it is properly understood why by one 037 it is 7772 w* (since he is 770N
DnX NY73) and by two D37 it is 77712 PX (since he is M¥Y nYTa 790) -
= 1999 PYNN 1IONY MY NON
Rather the X713 is asking according to the one who does not differentiate
between ¥y NY7a 7910 and 2K NYTA 79N -
- 1191 99 P PRTY RIS SN 1157 PHAN 19X BN X3 9391 ZwnT 1) 1INy %29
And also *'"% who answered, ‘and the 2517 came already before naw’ does not
differentiate® between M2y nyTa 790 or o™ AR nv7, [and] according to "1 we

negate the ruling of 1°X (that *"9 maintains 77°72 1X) in the face of all these three
cases”> where >"7 maintains 71772 ©”.

In summation; there are five cases in which 777> "™ rules; 1. P21 mawn (57°02 w0 mnxY), 2. PX
(77772 PR MEY), 3. 0% 107 (77702 w0 20nR), 4. 70 Ap1Rn (77002 7R OINEY), 5. 0pY (77712 v avnR).
27 maintains that by 77°72 @ 2°nX Y72 7230, but 7772 PR MEY ny7a 7910, Therefore in the three
cases of 0™ nX ny72 720 (1, 2, and 4) the two (2 and 4) which rule 772 PX push away one (1)
which rules 772 w°, so we say YRT npn Pnoann? ®n°%. However 13 ™ does not distinguish
whether it is ¥y nY72 7730 or 20X NYT2 therefore we have three cases (1, 3, and 5) where we
say 7772 ¥° and only two (2 and 4) where we say 717°72 X, therefore 1°X is negated in face of the
three.

7772 in order to permit him to go to the 0on, so why is it that when one 05n came X agrees that he can go to the
251, but if two 0’1217 can he cannot make the choice, why do we say 7772 @” in one case and not in the other?!

** Mmoo anticipated question is that the two case are different; if only one 22r came, then he is 720 the 72 772
o"nX (the 0om) therefore we say 7712 w°, however if both 031 came so the choice is up to him, it is ¥y ny7a 771N
where we say 7772 7°X, so what is the s'X%3 question?!

2 13 " answered the question on X (see [text by] footnote # 27). >"1 said there is no contradiction because the
case where one 0o came is where the 0or7 came before naw (it is only that the person placing the 217’y was not
aware), so the 211y was effective before naw and there is no need for 771°2 (it is merely a Xn°n "17°3).

% The w"w" amends this to read 77 (instead of 7°757).

e 1M "M would agree with 11 and differentiate between ¥y ny7a 7710 and o nX nv7a, there would be no
difficulty between the two rulings and no need to answer '02r1 82 1227, The fact that he gave that answer proves that
according to >" we either say 77°72 @ or 77°72 X regardless whether it is ¥"7 or X"7.

32 See footnote # 22.
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NN asks:
= Manva N1Na Nan 1"\‘,75\’) 1= 23)Y) 33’2} (3,09 91 NN 9102T NYP 1N

However there is a difficulty, for in the end of 7%°2 n>on regarding the case

where two people bought a barrel of wine and/or a cow in partnership, the x73

there -
- Sypng xnvon FuaanTm 19992 19 1YY 1IN %291 P1PM

Infers that >''1 does not maintain 779992 since he explains that statement of X -
- %y3u 92975 PRTY XY TN 5Y N

But perforce 32711 '3 negates the ruling of X as we explained.

N1B0IN answers:
- 19550 NY ©9I9Y 912515 195 N1 NIN 597 $99WY 3813 1INT 9119 U

And one can say that indeed the X3 could have answered it in this manner,
however it preferred to answer, ‘there is no need to reverse’ the views of > X" —

moon offers an alternate answer:
= 119592 PR A7I1% 229D 9INRT PNTY NND 1IN 22959 1) 993 ON

Or you may also say; granted that according to >''9, this which X explained

that 777977 'S maintains $79°92 PR, (this view of 1°X) is rejected -
- 25n9 53wt 19592 199 1Y 1IN 2297 99YW MM BIPN Yan

Nevertheless it is still evident that °''" does not maintain 7993, since °"M
interpreted the explanation of X —

Mmoo concluded that (according to 27) in a case of 2R NYT2 7710 we say 77°2 ¥ according to

3 See previous ™27 71"7 '0Mn at the very end (TIE footnote # 21).

** See footnote # (25 and) 27. How can the X723 infer that "1 maintains 77°72 X, when *"1 disagrees with 1X.

* See footnote # 16.

3 See text previously (by footnote # 30).

37 The X3 there initially cited a npY2nn between XY who maintains 7712 ¥ and 137 ™ who maintains X
7772, The X713 challenged this view of XX "1 for we find elsewhere that X°y2X "1 maintains 77°72 7X. The &7n3
therefore said "719°X' we will reverse the NP12nn so XYW ' maintains 77°72 X and 737 ' maintains 37°72 °. The
X3 asked (as just mentioned in N©OIN) that *" maintains 77°2 PR (since he explained 1X). N1OOIN answer is that
indeed the X7m3 could have answered that X is discredited (as n»oIN suggested) and °"7 can maintain 7772 ¥,
however the X3 wanted to reverse the 719°k and have the npYonn between ' R"3 as originally cited where "3
maintains 7772 7°X. The X773 therefore gave another answer, w""y.

¥ The question on X (see footnote # 27) which "1 answered, is valid only if we do not differentiate between 790
1XY nYT7a or 2Nk nyTa. If that differentiation is not made there are more cases in which 777 "1 maintains 7772 w°
than 7772 7X. Therefore & who said that *"7 maintains 772 7R is wrong since we have more places that "9
maintains 77"12 w°. However this is relevant as to what 7717 " maintains according to 1171 . However 71
himself surely maintains 7772 X, since he found it necessary to defend 1°X who also maintains 7772 PR (according
to A7 ). If 1371 "1 would maintain 7772 @ he would leave the 11w as is and disagree with X.
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"3, Therefore Moo asks:
= 19992 1Y 1YY NN 299 1YY DIINN NYTA NYINA IDYANT NP YaN

However there is a difficulty; for even by 21X ny72 17910 we know that nsh >''1

7902 7 -
- (4m 911y 19 INORID D993 1Y SN (1,0 91 > DIYPYA JINT

For the mwn» teaches in 2°»pw noon and it is cited in ¥ W% 9D -
- MAaYIYNN %391 “nain 939pY maoiv 190 Y AN 39 MNPT

Where >''% maintains there were no n1ow for 72w 199, because there was a

concern of having them mixed up -
- 295593 1Y NROLN DIVN RNYY 0NN YD)

And the X223 there explained the reason why >"7 maintains there were no MW

for 7211 °1°p, because of the concern of a nNwvr? whose owner died -
= PNT NN NINTI N9293 DY MdYY “oywm

And because 77972 9% n°% "1 as is evident from that ruling of ¥°X. This concludes

the X773 there. Md0IN continues with his question -
- Bmryny 52499 “n9r93 999 N OYINN NPT AN 299 XD NIYD

However now, according to 27 in a case of 2718 ny72 7210 we say that nIN "9

7902 7 -
$119993 19 U2 1YY NPT NIND IPANY “PRTY XNY 13NN ¥399)

And according to 3111° '3 we reject MR (as far as the view of 777> 1) and we say

¥ See the 0"wia NOM in 7T MIX R,NI XAV,

0 In the p"na there were various receptacles in the form of a 12w (wide at the bottom and very narrow on the top),
in which people placed money for various n1127p. The 0°375 would take these monies and apply them for their
designated 127p.

1 323 *1p (obligatory nests) refers to the two pigeons or doves (731 321 2>1n) which certain people have to bring
when they become 7170 (including a 7an 21 ,n79v). The 201 maintain that there was a special 19w for these n1127p
where one put his money in this 79w and the 772 would offer the two birds (which were bought with this money)
one for a nXur and the other for an 72y. However 7797 " maintains there was no such 19w and the people who were
217 the 71217 °1°p would bring the birds (or the money) directly to the 373.

2 Tn a case where one of the people who placed money in this 99w died, so his money cannot be used for a nxun,
since regarding a 7°2¥2 W nXon, the law is that the nxvn must die, and similarly if one designated money for a
nxvn and he died, the money must be thrown away into the n9»77 0. Therefore we cannot use any money in these
mow for perhaps this particular 1277 is being brought from the money of the one who died which needs to be
thrown into the n%»7 o°. The &3 asked let us take the some coins and throw them into the nni 0° and we will say
77°72 v that this is the money of the one who died. The &7n3 explained that °"9 maintains 77°72 7°X, as evidenced by
the ruling of 1X.

* The reason the X m3 there assumes that 77972 7% n°> 777 ' is because the X3 accepted s X version of 777
where 771°72 7°% n°% (by the case of P17V [see footnote # 18]).

* See (text by) footnote # 23.

* The case of 772 by the n1oWw of 77 *1p is 0K Y72 7910 (for the person who died will not be the one to
choose the money to be thrown away), therefore the rule should be 77772 w°.

* See text by footnote # 30. See “Thinking it over’ # 3.
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that the view of >"1 is that 77972 Y% @» even if it is 2Y nYT2 791N, so both according
to 27 (who maintains that 2>91X n¥72 77102 there is 7717 "% 77°72) and according to °"1 (that Xn°
PRT S0 77712 W AT 'Y always), why does the X713 there say that 7797 ' maintains M2 1’77 K7
°p% because of 7°%v2 nnw NRvA, since °"1 maintains 771°72 X, when in fact according to ' 2
1Y in the case of 2°3p the rule will be 77°72 W according to 777 ™?! NMvOIN here does not
answer this question.47

SUMMARY

Any °Xin which is not 17°2 of the parties to be a»pn, this *Xin is not effective unless
we maintain 7772 . According to 27 we say 7777 17 7712 w° when he is nvT2 790
0°InR but 7772 PR when he is M2y ny7a 7900, According to 11 " there is no
difference whether %%y ny72 7710 or 2K N¥72 7210 (and 777 " maintains always
7792 @, since 1PNYINNRT PR PRT RNPY). 1am° ' himself seemingly maintains 77202 PX.

THINKING IT OVER
1. What is the reason to differentiate® that by %y ny72 7910 we maintain 7772 X,
but by 2°91R nY72 77910 we maintain 77°72 w°?

2. What is the difference between 2°nX Nv72 791M WYY NY72 7910 and 1KY 172
17°27? Is MY N¥72 790 necessarily 17°2, and is 0°0R NY72 7730 necessarily 17°2 11°R?

3. ndoIN asks that how can the X3 in 2°2pW assume that 777° 1 maintains X
772, when 713 " clearly maintains that even by 77°M2 w» Xy nyTa an.%
Seemingly mpoINquestion is not understood, granted that 1171 "7 maintains 77°72 >,
but there is the 1"X7 Xn™2 which maintains 773°72 PX, so perhaps that X723
(regarding Mo for 72m *1°p) follows the ¥&T 812217

7 See &Y 11"7 2,02 A1 ‘010 who answers this question; 5"1: »"5 2MIAR NYTA 7902 AT 2270 572 7Y NORT KAT 9
D7V IR ORIN K72 2aR 7innwd. See (however) nwn noml.

* See (text by) footnote # 23.

¥ See (text by) footnote # 46.

0 See R R "W,
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